
Calcul littéralFonctions et algèbre

Effectue et réduis les expressions suivantes.

a) (–2x 3 – 8x 2 + 12) – (–5x 3 + 12x 2 – 39) =

b) (–2x 2 – 8y) · (–5x + 12y) =

c) 6x · (2y · x 2) =

d) (–4x) · (y – 2x 2) =

e) 5y 3 – (12y 3 – 5) + 15 =

f ) 5y 2 – 4y 2 · (14y – 30) = 

g) 4x + 6x · (5x – 3) =

h) – (5x 3 + 20xy) – 10x (–8x 2 – 12y) =

i) 61 – (x – 1) (2x – 37) =

j) (4x + 7) – (3x –  7) (2x + 2) =
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Corrigé
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a) 3x 3 – 20x 2 + 51

b) 10x 3 – 24x 2y + 40xy – 96y 2

c) 12x 3y

d) 8x 3 – 4xy

e) –7y 3 + 20

f) 125y 2 – 56y 3

g) 30x 2 – 14x

h) 75x 3 + 100xy

i) –2x 2 + 39x + 24

j) – 6x 2 + 12x + 21


